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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  SS—14–1—Geog. I
No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010

SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ flª¸  I-∑§‹Ê  ( OPTIONAL GROUP I — HUMANITIES )

÷ÍªÊ‹ ó ¬˝Õ◊ ¬òÊ
( GEOGRAPHY — First Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 22 ∞fl¢ 23 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All the questions are compulsory. There is internal choice in Question

Nos. 22 and 23.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 20 ‡ÊéŒÊ¥ ◊¥,
¬˝‡Ÿ ‚¢ÅÿÊ 6 ‚ 13 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 30 ‡ÊéŒÊ¥ ◊¥, ¬˝‡Ÿ ‚¢ÅÿÊ 14 ‚ 21 Ã∑§ ¬˝àÿ∑§
©UûÊ⁄U ‹ª÷ª 50 ‡ÊéŒÊ¥ ◊¥ ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 3 ¬ÎDÔUÙ¥ ◊¥
ŒËÁ¡∞–
Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each, Question
Nos. 14 to 21 in 50 words each and Question Nos. 22 to 24  in
3 pages each.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U

Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) ÁÃÁ◊ÿÊ∑§ „ÒU

(•) ŸÊfl (’) •ãÃ—flSòÊ

(‚) ∑§ê’‹ (Œ) πÊ⁄U ¬ÊŸË ∑§Ë ¤ÊË‹ –

Timiyak is

(A) Boat (B) Undergarment

(C) Blanket (D) Saline water lake.  12 
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(ii) ÃÊ⁄UÊ ¬˝ÁÃM§¬ Á¡‚ •ÁœflÊ‚ ¬˝ÁÃM§¬ ∑§Ê ÷ÊflË Áfl∑§Ê‚ „UÊ ‚∑§ÃÊ „ÒU, fl„U „ÒU
(•) ⁄UπËÿ (’) ÃË⁄U
(‚) •h¸-flÎûÊÊ∑§Ê⁄U (Œ) •⁄UËÿ –
Star pattern could be the future development of the settlement

pattern, which is

(A) Linear (B) Arrow

(C) Semi-circular (D) Radial.  12 

(iii) ∞∑§ ⁄UÊÖÿ ∑§Ë ¡ŸªáÊŸÊ ∑§ •Ê¢∑§«∏¥U ÁŸêŸflÃ˜ „Ò¥U —

¡ŸªáÊŸÊ fl·¸
v~~v wÆÆv

|Æ,ÆÆ,ÆÆÆ }w,ÆÆ,ÆÆÆ
¡Ÿ‚¢ÅÿÊ ∑§Ë flÊÁ·¸∑§ flÎÁh „ÒU
(•) v.|v' (’) w.vy'
(‚) v.y{' (Œ) v.~w'.
Population figures of a state are as follows :

Census Year

1991 2001

70,00,000 82,00,000

Annual population growth is

(A) 1·71% (B) 2·14%

(C) 1·46% (D) 1·92%.  12 

(iv) ÿÁŒ •Ê¬∑§Ê Á∑§‚Ë äflÁŸ •ÕflÊ ŒÎ‡ÿ ∑§Ê Áfl‡fl ∑§ Á∑§‚Ë ÷Ë ÷Êª ◊¥ Ãà∑§Ê‹ ¬˝Á·Ã
∑§⁄UŸÊ „UÊ, ÃÊ •Ê¬ Á¡‚ ‚¢øÊ⁄U ‚ÈÁflœÊ ∑§Ê ∑§Ê◊ ◊¥ ‹¥ª, fl„U „ÒU
(•) ŒÍ⁄U÷Ê· (’) S¬Ë«U ¬ÊS≈U
(‚) »Ò§Ä‚ (Œ) ≈ÒU‹Ä‚ –
If you have to send immediately a sound or visual to any part of

the world, the communication facility you would be using is

(A) Telephone (B) Speed post

(C) Fax (D) Telex.  12 
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2. “‚Ê◊˝ÊÖÿ ∑§Ë ªgË” ∑§Ë ‚¢ôÊÊ Áfl‡fl ∑§ Á∑§‚ ◊„UÊŸª⁄U ∑§Ê ŒË ªß¸ „ÒU ?
Which metro city of the world is termed as the 'Seat of Empire' ?  12  

3. wÆÆz ∑§Ë ◊ÊŸfl Áfl∑§Ê‚ Á⁄U¬Ê≈¸U ◊¥ ÷Ê⁄UÃ ∑§ SÕÊŸ ÃÕÊ ß‚∑§ ◊ÊŸfl Áfl∑§Ê‚ ‚Íø∑§Ê¢∑§ ◊ÊŸ ∑§Ê
©UÀ‹π ∑§ËÁ¡∞ –
Mention the place of India and its value of Human Development Index
in Human Development Report of 2005. 1

4  + 14  = 12  

4. ÿÁŒ Á∑§‚Ë •ÊãÃÁ⁄U∑§ ˇÊòÊ ∑§Ë Á¬¿U«∏UË ª˝Ê◊ËáÊ ’SÃË ◊¥ ¡„UÊ° ∑§’‹ •ÊÚ¬⁄U≈U⁄U ∑§Ë ‚ÈÁflœÊ Ÿ„UË¥ „ÒU
ÃÕÊ ŒÍ⁄UŒ‡Ê¸Ÿ ∑§Êÿ¸∑˝§◊Ê¥ ∑§ ‚¢∑§Ã ’„ÈUÃ ∑§◊ïÊÊ⁄U ÁSÕÁÃ ◊¥ ¬„È°UøÃ „Ò¥U, fl„UÊ° •Ê¬ ≈UË0 flË0 ¬⁄U
S¬c≈U ¬˝‚Ê⁄UáÊ ∑§Ê •ÊŸãŒ ‹Ÿ „UÃÈ Á∑§‚ ‚ÈÁflœÊ ∑§Ê ©U¬ÿÊª ∑§⁄¥Uª ?
If in a backward rural colony of any interior region where facility of a
cable operator is unavailable and signals of Doordarshan programmes
reach in a very weak state, which kind of facility will you ulilize to
enjoy a clear reception on your TV ?  12  

5. ◊ÊŸfl ÷ÍªÊ‹ ◊¥ ‚ê÷flflÊŒË ÁfløÊ⁄UœÊ⁄UÊ ∑§Ê ‚◊Õ¸Ÿ ∑§⁄UŸ flÊ‹ Á∑§ã„UË¥ ŒÊ ÁflmÊŸÊ¥ ∑§ ŸÊ◊
Á‹Áπ∞ –
Name any two scholars who supported the ideology of Possibilism in
human geography. 1

4  + 14  = 12  

6. ÁŸêŸÊ¢Á∑§Ã ∑§Ê ‚È◊Á‹Ã ∑§ËÁ¡∞ —
ˇÊòÊ •Êπ≈U∑§ ¡Ÿ¡ÊÁÃÿÊ°

(•) ©UûÊ⁄UË ‚Êß’Á⁄UÿÊ (i) ÿÊªÈflÊ
(’) ’ÊÁŸ¸ÿÊ (ii) ‚Ò◊Êÿ«U
(‚) •◊ïÊŸ ’Á‚Ÿ (iii) Á¬Ç◊Ë
(Œ) ∑§Ê¢ªÊ ’Á‚Ÿ (iv) ¬ÈŸÊŸ –
Match the following :

Area Hunting tribes

(a) Northern Siberia (i) Yaguwa

(b) Borneo (ii) Samoyed

(c) Amazon Basin (iii) Pigmy

(d) Congo Basin (iv) Punan. 4 × 14  = 1

7. ª˝Ê◊ËáÊ •ÁœflÊ‚Ê¥ ∑§ øÊÒ∑§-¬^ÔUË ¬˝ÁÃM§¬ ∑§Ê ⁄UπÊÁøòÊ ’ŸÊß∞ –
Draw a diagram of Checkerboard pattern of rural settlements. 1
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8. ≈UÊÁ∑§ÿÊ ‡Ê„U⁄U ∑§Ë ÷ÊÒªÊÁ‹∑§ ÁSÕÁÃ Œ‡ÊÊ¸Ÿ flÊ‹Ê ŸÊ◊Ê¢Á∑§Ã ⁄UπÊÁøòÊ ’ŸÊß∞ –
Draw a labelled sketch to show the geographical location of Tokyo
city. 1

9. Áfl‡fl ◊¥ ¡Ÿ‚¢ÅÿÊ ÁflÃ⁄UáÊ ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ∑§Êß¸ ŒÊ ÷ÊÒÁÃ∑§ ∑§Ê⁄U∑§ Á‹Áπ∞ –
Write any two physical factors affecting distribution of population in
the world.  12  + 12  = 1

10. ÿÁŒ ∞∑§ Œ‡Ê ∑§Ë ¡Ÿ‚¢ÅÿÊ ∑§Ë ‚Ê◊Êãÿ ‚ÊˇÊ⁄UÃÊ Œ⁄U z}' „ÒU, ÃÊ ◊ÊŸfl Áfl∑§Ê‚ ‚Íø∑§Ê¢∑§ ∑§
•ÊÿÊ◊ ‚¢∑§Ã∑§ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –
Calculate the value of Dimension Index of Human Development Index
if general literacy rate of population of a country is 58%. 1

11. Áfl‡fl ∑§ ∑Î§Á· ¬˝œÊŸ Œ‡ÊÊ¥ ∑§Ë Ÿª⁄UËÿ ¡Ÿ‚¢ÅÿÊ ◊¥ ÃËfl˝ flÎÁh ∑§ Á‹∞ ©UûÊ⁄UŒÊÿË ŒÊ ∑§Ê⁄UáÊ
Á‹Áπ∞ –
Write two reasons responsible for rapid increase in urban population
of agriculture prominent countries of the world.  12  + 12  = 1

12. ÿÁŒ •Ê¬ ∞∑§ flÊÿÈÿÊŸ mÊ⁄UÊ «UÊÁfl¸Ÿ ‚ éÿÍŸ‚ •Êÿ‚¸ flÊÿÊ Ã„U⁄UÊŸ ∞fl◊˜ ¬Á⁄U‚ ∑§Ë ÿÊòÊÊ ∑§⁄UŸÊ
øÊ„UÃ „Ò¥U ÃÊ •Ê¬ Á∑§Ÿ øÊ⁄U ◊„UÊmË¬Ê¥ ∑§Ê ÷˝◊áÊ ∑§⁄¥Uª ?
If you wish to travel from Darwin to Buenos Aires via Tehran and
Paris by an aeroplane, then which four continents would you be
visiting ? 4 × 14  = 1

13. •ÊÒ¬øÊÁ⁄U∑§ Á‡ÊˇÊÊ ∞fl◊˜ •ŸÊÒ¬øÊÁ⁄U∑§ Á‡ÊˇÊÊ ◊¥ •ãÃ⁄U ’ÃÊß∞ –
Distinguish between formal education and informal education. 1

14. •ãÃ⁄U⁄UÊc≈˛UËÿ √ÿÊ¬Ê⁄U ∑§Ë øÊ⁄U •Êfl‡ÿ∑§ ‡ÊÃZ Á‹Áπ∞ –
Write four important requisites of International Trade. 4 × 12  = 2

15. Á«U∑§Ÿ ∞fl◊˜ Á¬≈U˜‚ ∑§ •ŸÈ‚Ê⁄U ◊ÊŸfl ÷ÍªÊ‹ ∑§ Áfl·ÿ ˇÊòÊ ∑§Ê ß¢ÁªÃ ∑§ËÁ¡∞ –
Point out the scope of human geography according to Dicken and
Pitts. 2

16. ŒÁˇÊáÊË •◊Á⁄U∑§Ê ◊„UÊmË¬ ∑§Ê ⁄UπÊ ◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ©UÁøÃ ‚¢∑§Ã mÊ⁄UÊ ŒÊ ¬‡ÊÈøÊ⁄UáÊ ˇÊòÊ
Œ‡ÊÊ¸ß∞ –
Draw a sketch map of continent of South America and show two
pastoral areas by appropriate symbols. 1 + 12  + 12  = 2
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17. ÷Ê⁄UÃ ∑§ ¬˝ÊªÒÁÃ„UÊÁ‚∑§, ¬˝ÊøËŸ, ◊äÿÿÈªËŸ ÃÕÊ •ÊœÈÁŸ∑§ Ÿª⁄UÊ¥ ∑§ ¬˝àÿ∑§ ∑§ ŒÊ ©UŒÊ„U⁄UáÊ

ŒËÁ¡∞ –

Give two examples each of Pre-historic, Ancient, Medieval and Modern

towns of India. 8 × 14  = 2

18. ∞∑§ ¬˝Œ‡Ê ∑§Ë ¡Ÿ‚¢ÅÿÊ ∑§Ë ÃËfl˝ flÎÁh ◊¥ ¬˝flÊ‚ ÃÕÊ ¬Á⁄Ufl„UŸ ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê S¬c≈U ∑§ËÁ¡∞ –

Explain the role of Migration and Transportation in rapid growth of

population of a region. 1 + 1 = 2

19. ◊ÊŸfl √ÿfl‚ÊÿÊ¥ ∑§Ë ∑§ÊÒŸ-‚Ë üÊáÊË ©Uà¬ÊŒ∑§ ÃÕÊ ©U¬÷ÊÄÃÊ ∑§ ◊äÿ ‚¢ÿÊ¡Ÿ ∑§Ê ∑§Êÿ¸ ∑§⁄UÃË

„ÒU ? ¿U— •ÊÁÕ¸∑§ Á∑˝§ÿÊ•Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ Á¡Ÿ∑§ mÊ⁄UÊ ÿ„U ‚¢ÿÊ¡Ÿ SÕÊÁ¬Ã „UÊÃÊ „ÒU –

Which category of human occupations functions as a link between the

producer and the consumer ? Write the names of six such economic

activities through which this link is established.  
1
2  + ( 6 × 14  ) = 2

20. ∑È§¿U Áfl‡Ê·ôÊÊ¥ ∑§ •ŸÈ‚Ê⁄U, Áfl‡fl ◊¥ πÁŸ¡ Ã‹ ∑§ flÃ¸◊ÊŸ ‚fl¸ÁˇÊÃ ÷á«UÊ⁄U •ÊªÊ◊Ë ¬ìÊË‚

fl·ÊZ ∑§ Á‹∞ ¬ÿÊ¸åÃ „Ò¥U – ß‚ •flÁœ ∑§Ê ’…∏UÊŸ ∑§ Á‹∞ ŒÊ ‚È¤ÊÊfl ŒËÁ¡∞ –

According to some experts, the present surveyed oil reserves in the

world are sufficient for forthcoming twenty-five years. Give two

suggestions for extending this duration. 1 + 1 = 2

21. ªÊÒ¥«U ∞fl◊˜ ∞ÁS∑§◊Ê ¡Ÿ¡ÊÁÃ ∑§Ë ÃÈ‹ŸÊ ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —
(i) ◊ÊŸfl ¬˝¡ÊÁÃ
(ii) ÃËŸ ‡ÊÊ⁄UËÁ⁄U∑§ ‹ˇÊáÊ –
Compare Gond and Eskimo tribes on the basis of the following

points :

(i) Human race

(ii) Three physical characteristics.  
1
2  + 1 12  = 2
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22. Áfl‡fl ◊¥ ÁflÁŸ◊Ê¸áÊ ©UlÊªÊ¥ ∑§Ë SÕÊ¬ŸÊ ∞fl◊˜ Áfl∑§Ê‚ „UÃÈ •Êfl‡ÿ∑§ ÷ÊÒªÊÁ‹∑§ ∑§Ê⁄U∑§Ê¥ ∑§Ê
fláÊ¸Ÿ ∑§ËÁ¡∞ –

•ÕflÊ
Áfl‡fl ◊¥ ∑Î§Á· ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ÷ÊÒÁÃ∑§ ∞fl◊˜ •ÊÁÕ¸∑§ ∑§Ê⁄U∑§Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
Describe the geographical factors required for localisation and

development of manufacturing industries in the world. 4

OR

Describe the geographical and economic factors affecting agriculture

in the world. 4

23. ©UûÊ⁄UË •≈U‹ÊÁá≈U∑§ ¡‹◊Êª¸ ÃÕÊ ¬Á‡ø◊ ÿÍ⁄UÊ¬-÷Í◊äÿ ‚Êª⁄U-Á„UãŒ ◊„UÊ‚Êª⁄U ¡‹◊Êª¸ •ÕflÊ
≈˛UÊã‚-‚Êß¸’Á⁄UÿŸ ⁄U‹◊Êª¸ ÃÕÊ ∑§ŸÒ«UËÿŸ ¬Ò‚Á»§∑§ ⁄U‹◊Êª¸ ∑§Ë ÃÈ‹ŸÊ ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ê¥ ∑§
•ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —
(i) ÁSÕÁÃ
(ii) ◊Êª¸SÕ ‚Êª⁄U ¬ûÊŸ / Ÿª⁄U
(iii) ¬Á⁄UflÊÁ„UÃ ‚Ê◊ª˝Ë
(iv) ◊„Uûfl –
Compare the North Atlantic Ocean route and the Western Europe-

Mediterranean Sea - Indian Ocean route O R  the Trans-Siberian

Railways and the Canadian Pacific Railways on the basis of the

following points : 1 + 1 + 1 + 1 = 4

(i) Location

(ii) Enroute seaports / cities

(iii) Transported goods

(iv) Importance.

24. Áfl‡fl ◊¥ Áfl‡ÊÊ‹Ã◊ •ÊÒ⁄U ‚ÉÊŸÃ◊ ◊ÊŸfl ‚◊Í„U ∑§ÊÒŸ-‚ „Ò¥U ? ßŸ ◊ÊŸfl ‚◊Í„UÊ¥ ∑§Ë Á∑§ã„UË¥ ¿U—
◊ÈÅÿ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
Which are the largest and the densest human agglomerations in the

world ? Describe any six main characteristics of these human

agglomerations. 1 + 3 = 4

                        


